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1 Introduction
The intensive discussion about the “20MHz problem” in R1#46bis meeting resulted in the following conclusion [1], of which main purpose is to simplify the channel structure. 
· All UEs are capable of receiving a signal with a bandwidth of at least 901 subcarriers (15 MHz spectrum allocation).

· Increasing the minimum UE reception capability to 1201 subcarriers (20 MHz spectrum allocation) will be studied further in RAN1.

· The minimum UE transmission capability remains unchanged, i.e., 601 subcarriers (10 MHz spectrum allocation).

· The SCH and (fixed part) BCH are transmitted on the 72 center sub-carriers only, regardless of the system bandwidth.

· The PCH, and, if defined by RAN2, the flexible part BCH, are transmitted on the center subcarriers only.

· The actual transmission bandwidth has not yet been decided upon in RAN1, but will be at most 601 subcarries in 10, 15 and 20 MHz system.

· This assumes a UE reception capability of 901 subcarriers. 

2 Discussion
The minimum UE reception capability of 901 subcarriers (15MHz spectrum allocation), however, still has potential “20MHz problem”. Some examples are as follows:

· Unnecessary limitation or complexity is expected for MBMS traffic transmission. MBMS traffic that should be received by 15 MHz capable UEs can be sent either in the 601 center subcarriers only or in the right or left part of the 20MHz spectrum allocation. The former would not be desirable if there are lots of MBMS traffics. The latter would result in unnecessary complexity in system operation to camp the MBMS-interested UEs on appropriate location. 
· There would be unnecessary limitation on selecting the set of subcarriers for unicast traffic transmission. 
· Increase in complexity to detect SCH which is not aligned to the center of the bandwidth received by a 15MHz capable UE. 
· Re-tuning can still be required for 15 MHz UEs, e.g., depending on the DL loading situations in the left/right 10 MHz bands
· Adjacent channel interference from the subcarriers located within the filter transition band of the 15 MHz UE, on which the 20 MHz system would transmit any valid signal for other UEs
In addition, other issues, which are not yet identified, could also arise as the detailed design will progress. 
Regarding the UE complexity, we believe that there should not be big difference between 15MHz and 20MHz options. 
3 Conclusion
To completely remove any potential “20MHz problem”, it is proposed to 

· Define the minimum UE reception capability to be 20 MHz/1201 subcarriers
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